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The reading explains various theories about ‎reasons accounting ‎for why electronic record-keeping has advantages over old-fashion record keeping. However, the lecturer casts doubts on all the mentioned ‎reasons ‎by the reading passage and finds ‎the idea dubious‏.‏
First of all, the author argues electronic record-keeping gives rise to reducing the cost of storing and copying these records. Conversely, the lecturer brings up the idea ‎that ‎doctors do not need to have electronic records because doctors do not throw out records. Furthermore, doctors need emergency backup from documents, which causes keeping paper-based records becomes essential. Therefore, the cost of storage will not be reduced.
Furthermore, the reading passage holds the view of ‎storing data in electronic databases leads to declining errors because paper records might be illegible or in nonstandard forms. On the contrary, the professor underlines the fact ‎that‎ ‎electronic documents cannot eliminate errors. Although electronic records have standard forms, which leads to preventing errors, because first of all, doctors usually write their notes by hand, the problem of poor handwriting still reminds. As a result, when someone wants to transmit this note in an electronic form, he or she may have errors yet.
Finally, the author argues that ‎aiding research occurs because databases are formatted, and they could be accessed easily from any research location. In contrast, the speaker dismisses this issue because ‎privacy plays an essential role in accessing these records. As a result, everybody must follow the rules and use only records that already have permission from their patients.  
